TEKS 3.1 C
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Name __________________________________
Date________
Money Bags
TAKS Practice

1  How much is a dollar, three dimes and two nickels worth? 

$1.32


$1.22


$1.40


$1.30

2  Which of the following represents 86?














3  Jonnie found the money found in her room.  How much money did she find?





$1.83




$3.35


$1.32


$1.22

4  Mark had three quarters, 1 nickel and 2 pennies.  He went to the store to buy a small bottle of juice.  The juice cost 75If he buys the juice how much money will he have left?


13

7

2

82
5  Juan went to buy some tacos at Jack in  the box.  He bought 8 tacos.  He paid with a 5 dollar bill.  The cashier gave him the follow set of coins as change.

How much change did he receive?


$28


       $0.28



       $0.55


       $0.30
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